BIG BORE HYDRAULIC CYLINDER

FORFLERE L/ & RP EREEIRRES ) > & - /155 3E S/ Yd e Outward Drawing/4 IR/ FUHEY @ 8 =

1 - Safety Guaranteed It contains check vaves so that pulling force is kept for a
certain time upon power failure, securing safety. 2 - Easy Repair & Check
Thanks to easy access of chuck valves from outside, it is possible to reparr and
check them, while cylinder is attached to the equipment. 3 - Leakage Prevention
Design(Patent Registation:0172805) Cylinder body is designed with a leakage
prevention structure to totally eliminate the possibility of leaking. 4 + Highest Draw
Pull As weight is reduced and draw pull is increased, it gurantees the best
machining efficiency and stronger power.

1-RETE  HERBIIHEEER, SEs, EHNTRT—RIE, BlH‘kTe.
2. EHEMRAES BT WISSETRTELR, SEEMITRERELENETEEME
W3- Bt CEREA 01 72009) © EREMTEAREST R, TEHBRRHIT RN
4. HIREX : SR BIIEEFERN AN, ) TREE SIS NN

1. 220E 2-#548755 3 BubLEHEFESD 4 A2 52 HK#N

=/

1. o8 gu 2253200 801 3. FRUK AN (SHSS 017205 4-5F H 3= wal.

YAH-06,08,10,12,15

2 Specifications /A& /T A Y H 2
c c
= woagy ™% C D E F B H J K M N 0 P Q =
0 Spec Aty Order NO Cylinder Dia  Pistonstroke  Thru hole Dia Piston surface area Max. Draw bar pull YAH-04 100 85 60 - 35 25 85 45 65 30 21 - 76 (8]
g onms  dUCUZ  mAEAE23  Medasy DAL N o 2B £ KN(kaf) YAH-05 110 95 65 - 45 36 90 55 65 40 31 - 76 g
= Modef& Al mm mm mm Extend 2%  Retract®%  Extend2=  RetractQl% YAH-06 163 130 100 80 65 50 108 822 74 50 46 53 98 S
=] YAH-04 21404 75 10 21 365 340 118(1201)  110(1119) YAH-08 195 170 130 90 70 55 120 912 82 56 52 60 1o =)
=5 YAH-05 21405 85 10 31 432 398 139142141 128(1309) YAH-10 218 190 160 120 95 80 145 1162 107 81 7 85 135 =
YAH-06 2AHOB 130 15 46 110.6 995 416(4242)  374(3816) ﬁ:”fﬁ gi? ;?g }gg }gg }?8 gg }g; }g}g };g gg g’f 1%00 }gj
YAH-08 2AH08 160 20 52 172.8 162.6 650(6627)  612(6236 - :
YAH-10 2AH10 185 o5 7 2133 197.9 802§81 so; o 557590; YAH-15 307 275 230 170 140 123 212 167 160 1346 1175 135 198
YGH-10 2GH10 185 25 82 205.1 190.2 772(7866)  716(7295)
YAH-12 2AH12 205 30 91 251.5 235.0 946(9646)  884(9013) — _ .
YAH-15 DAH15 255 23 117.5 367.5 356.7 129.6(13230)  125.8(12841) wosems _ | = L3 _ £5 = = L5 o JLJ e L g e L)
YAH-04 72 13 16 - 9 18 - 5 78 22 12 13 3
Y AH-05 77 14 16 - 5 25 - 5 84 2 12 13 8
5 : o . YAH-06 1235 11 825 55 15 30 6 5 135 34 19 15 0
Spec At Mac operaing pressire Na%ng'mssﬂglifgged TO_tallzlea;(Igge Weight @ Matching chuck YAH-08 130 12 885 55 15 30 6 5 1195 39 19 20 0
HINE 7 HaAZE " =R 5 Moment of inettia Hex YAH-10 143 12 955 55 15 35 6 5 1265 44 19 25 0
Modef& Al kg /o rp.m(min”) £/min kg N (kgf.m) YGH-10 1495 14 9%55 55 15 35 6 5 1285 44 19 25 0
YAH-04 35 8000 16 57 0.16(0016) CAH-04 YAH-12 1625 14 1085 55 15 35 6 5 1415 49 19 30 0
YAH-05 35 7000 16 67 024 50.024; CAH-05 YAH-15 165 20 99 6 20 45 9.5 6 1737 405 175 24 1
YAH-06 408 7000 30 120 074(0075 CAH-06
YAH-08 408 6200 35 155 196(020) CAH-08
YAH-10 408 4700 42 230 343(035) CAH-10 weews "% 112 113 114  L15  L16 T 2 T3 T4 5
YGH-10 408 4500 45 292 480(049) CGH-10 YAH-04 130 73 - 95 50 6-M6X14  M28XP15 - PT-1/4 M4x7
YAH-12 408 3800 45 310 569(058) CAH-12 Y AH-05 137 76 - 100 50 6-M6X14  M38XP15 - PT-1/4 M4X7
YAH-15 408 2800 70 52 147(15) CAH-15,1821,24 Y AH-06 178 75 36 120 40  6-M10X18  MS55XP20  MS52XP15 PT-1/2 M5X10
Y AH-08 186 81 36 130 40  6-M10X18  MBOXP20  M58XP15 PT-1/2 M5X10
YAH-10 205 95 36 150 40 12-M10X18 M85XP20 M84XP20 PT-1/2 M5X10
YGH-10 217 107 36 166 40  12-M10X18  MOOXP20  MBIXP20 PT-1/2 M6X10
ey : = IR 9| & & YAH-12 230 107 36 166 40 12-M12X22  M100XP20  M99XP20 PT-1/2 M5X10
Outward Drawing/5} 24/ JHIE/ <1 8 YAH-15 2525 134 20 215 40  12-M16X32  M130XP2.0 - PT-1/2 6-M6X10

-l

YUIH L) - I YAS []-CJLIL]

.....................................

L5

Cvlinder Size  Blank | Standard Cylinder Size
. | : CA | Coolant Collector Bank I Standard
2 : s CB | Coolant Collector + Proximity Switch n andaar
| Cylinder Model A | Big Bore(E2&E#) | v C | Check Valve Type
| 295 G | Great Bore(CH 2+ &) P | Proximity Switch Type

T | Check Valve + Proximity Switch Type

YAH-04,05

22 | www.seoam kr CHUCK |23





